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Note : 	Answer the following questions as per the insturctions 

given for each question. 

	

1. 	Write the full form of the following : 	1x5=5 

(a) UNCRPD 

(b) PWD Act 

(c) CBR 

(d) LD 

(e) MSJ & E 

	

2. 	Answer the following questions in one or two 

sentences : 	 2x5=10  

(a) Define Rehabilitation. 

(b) Define social model of disability. 

(c) Define Autism. 

(d) Define multiple disabilities. 

(e) Define prevalence. 

BMD-096 	 1 	 P.T.O. 



	

3. 	Answer any five from the following questions : 
5x5=25 

(a) Write a short note on the environmental 

influences on disability. 

(b) What is the importance of legislations for 

persons with disabilities ? 

(c) Write a short note on National Trust. 

(d) Support based model is very important for 

children with Cerebral palsy. Explain. 

(e) Poverty has an impact on disability. 

Comment. 

(f) Write a short note on physical access for 

children with disabilities. 

	

4. 	Answer any two from the following questions : 
10x2=20 

(a) The attitude of society and culture has a 

great impact on children with disabilities. 

Explain in detail. 

(b) Explain the constitutional obligations for 

children with disabilities. 

(c) Discuss the shift in the views of society in 

light of charity of human rights model. 
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